
Decrease Population 

 

A birth rate of Japan and Korea is low. 

Both countries have narrow land and high education level. 

A course is so complex. 

It does not go so easy that society system should change. 

For example, 

Local government must grant cost of education. 

(notebook, pencil, school and exercise wear, shoes, bag, workbook, school travel, school lunch, etc.) 

7 hours working time system. 

Company makes loose carrier system. 

Anyway you must not exhaust a youth. 

And it is important that people have sense of values to have a child 

 

人口減少 

 

日本と韓国の出生率が低い 

両国とも国土面積が狭く教育レベルが高い 

原因は複雑なのだろう 

難しいかもしれないが、社会の仕組を変えるべきなのだろう 

例えば、 

自治体は教育費を支出しなくてはならない 

（ノート、鉛筆、制服と体操着、ズック、カバン、問題集、修学旅行費、給食費 など） 

７時間労働制 

会社は、ゆるいキャリアシステムを構築する 

とにかく若者を疲弊させたらいけない 

そして、人々が子を持つ価値観を持つことが大切である 

 

 

 

 

 


